
Двухслойный персептрон

Найти среднеквадратичные ошибки сети.
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Двухслойный персептрон
1 0.0648 -

2 0.0782 0.1067

3 0.1067 -

4 0.0713 0.0669

5 0.0593 -

6 0.0992 -

7 0.1041 -

8 0.0823 -

9 0.0739 0.1007

10 0.0782 0.0714

11 0.1049 0.1049

12 0.0613 0.0708

13 0.1034 -

14 0.0617 0.0615

15 0.0709 -

16 0.0993 0.0837

17 0.0667 0.0651

18 0.0608 0.0497

19 0.0618 -

20 0.0984 0.0497

21 0.0979 -

22 0.0592 -

23 0.0666 0.0649

24 0.0989 -

25 0.1054 -

26 0.1018 -

27 0.0794 -

28 0.0836 -

29 0.0972 -

30 0.0780 -

31 0.0825 -

32 0.0647 0.0693


